Red - Use the number squares to help you add each digits.

1) 244 + 329 =

2) 321 + 598 = Th H T O
3) 401 + 387 =

4) 891 + 107 = +
5) 627 + 182 =
6)
7)
8)

591 + 229 =
492 + 239 =
428 + 493 =

1 2 3 45 6 7 8 9 10
11 12 13 14 15 16 17 18 19 20
21 22 23 24 25 26 27 28 29 30

Ye

low

1) 627 + 182 =
2) 591 + 229 =
3) 492 + 239 =
4) 428 + 493 =
5) 671+ 343 =
6) 375+ 436 =
7) 883 + 259 =
8) 907 + 793 =

Green
1) 671 + 343 =
2) 375 +436 =
3) 883 + 259 =
4) 907 + 793 =
5) 839 + 784 =
6) 599 + 899 =
7) 742 + 479 =
8) 974 + 826 =




Challenge

1) Eva and Ron are playing a game.
Eva scores 351 points and Ron scores 478 points.
How many points do they score altogether?
How many more points does Ron score than Eva?

Eva and Ron play the game again.

Eva scores 281 points, Ron scores 60 less than Eva.
How many points do they score altogether?

Fill in the missing numbers:
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